PRACTICE QUIZ:

1. Secretions from which of the following would have the effect shown in the diagram below?
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A, liver - B. mouth C. stomach D. large intestine
i rted from the small intestine to the liverb;y the: )
I:\Tu tﬁ:;ii(a:r Setifjnspo * B. hepatic portal vein. C. lymphatic system. D. mesenteric artery.

2 . After chewing a starchy food for a few minutes, a person experiences a sweet taste in the mouth.
Which of the following enzyme-substrate complexes was 1r-1volved?_
A. maltase ~ glucose . B. trypsin - peptide )
C. lipase - triglyceride ‘ D. amylase - polysaccharide

3. The following events take place after eating a protein-rich mea],

" 1. The pancreas releases sodium bicarbonate (NaHCO

3)-
2. Pepsinogen is converted into pepsin.
3. Gastrin is released into the bloodstream.
4. Acid chyme stimulates the release of secretin,
Place these events in the correct order for digestion,
A 3,2,4,1. B. 3,4,2 1. C. 4,2,3,1. D. 2,4,1,3.

l-‘ « In humans, the bacteria £ coli are normally found within the:
A. calon.

B. mouth. : C. pancreas. D. small intestine.
& The correct sequence of s

tructures that food contacts as it moves along the digestive system is:
A. mouth, stomach, large c'intc:stims., small intestine, anus.
B. pharynx, small intes

tinie, stomach, large intestine, anus.
C. mouth, esophagus, s

tomach, small intestine, large intestine,
D. esophagus, pharynx, stomach, large intestine, small intestine.

é Which of the following is an exémple of physical digestion?
A. hydrolysis

B. release of gastrin ) )
C. churning in the stomach D. action of lipase in the small intestine



:?’. A function of the structure labelled X below is the production of:

MhH nNnv IQ AVﬁH nNnm -o -VhN nﬁ nm lm .—Vnm n.ﬁ nN -<
*ISPIO 1991100 Y} UT SJUSAD S 90B[J

sapndad ojur sepnded£jod Jo umopieaiq
WEaIISPOO[q SY) 03Ul UINSeS Jo oseo[al
ursdad ojur uoSoursdad jo uoIsIaALOD
som{ omses Jo uomonpold pasealour

D. hydrochloric acid. .
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8. Vil are found in the
A. esophagus
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| X Products of the liver include

A. pepsin, gastrin and bile. - B. bile, proteases and urea.
C. bile, urea and blood proteins. D. proteases, amylases and lipase.

L% Where in the structure below would molecule A be transported to?
structure

molecule A

c.Y D. Z

1 4. What would occur if sodium bicarbonate ions were NOT present in pancreatic juices?
A. Bile would not emulsify fats.
B. Trypsin would not break down proteins.
C. Protein digestion in the stomach would not occur.
D. Water would not be reabsorbed in the large intestine.

| &’ Which of the following are functions of the liver?

1. produce urea

2. produce insulin

3. detoxify the blood

4, synthesize plasma proteins
5. synthesize digestive enzymes

5 B. 1,3,4 c. 2,3,4 D. 3,4,5

{ 6 How many of the results below are from the action of gastric juice?

*

bacteria cells are destroyed

amylase becomes denatured

*

pepsinogen becomes activated

* trypsinogen changes into trypsin

A. one B. two C. three D. four

| ? . E. coliare beneficial to humans because they:
A. convert pepsinogen to pepsin.
B. produce vitamnins and amino acids.
C. absorb water from the large intestine. . )
D. synthesize urea from the breakdown of amino acids.



